oooobooooooonb ot

13 0OO0O0dd

13.1 0OO0goo

goooooobooooooooboooooooooooooooboobooo oo boOon
Oooooooooboooooooog
gooooooooooooooooooocoboooooonoo oo boooobooo
d00o00O0O00bO0o0OO00o0Oo0o0o0obO0o0oOooon
52 H?
(any
Ot? Oz2
O000000000v=a—ct,w=a+ct000009, =0, —1/cOt, Oy =0, +1/c0, OO0
000 (1)0

Ju(z,t) =0 (1)

0%u _0 @)
dwdv
ooooooono FGOoOOoOOooooood
u=F(z — ct) + G(z + ct) (3)

goobooobooboboooooouobtcbboboobobboboobboobOoO
gbboooboooboobobobooobbooboan

13.2 OJUOOooooon
0000 ¢=1000000 1)0000<z<10000000000D0D0DODCDOO

Ou(z,0)
u(z,0) = ¢(z), T
O0000o0o0oooO0oooOo0ooooooo0ooooooooooooooooooooooooao
oo0ooooooon

00000 (1)opooooo u(:cj,tn):U]’-”DDDD

=9¢(z), u(0,t) =u(l,)=0 (4)

Uittt —aup+ U (U 207 + U )
(At)? (Az)?

(5)

odoboooodoooodoooooooooo0odoo0At, Az000 o =jAz, t, =nAt0
0000000000ooO0OO0ooooooooo (5)0

UMttt =2Ur — UM 4 (U, — 207 + U ) (6)

00000000000e=(At/A)’000000000000000000000OOODOO0
0 t000000000000000000000000000D0D0D00O0O0O00O0O1O

'D00000D000000000000000000000000000000000000000000000
uobooouoobooobooboooboooooooobooboooa
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gobooboobbooboobboooboobbobobobbbobboboobboobo
gbboooboooboboboooooboan

Ou(z,0) N At? 9%u(z,0)

u(z, At) ~ u(z,0) + At Y 5 92

(7)

Doooooo
(07
Ul =+ AT, + 5(@j+1 — 2%+ @ 1) (8)

00000000®; = ¢(z;) = u(z;,0), ¥; = ¢(z;) = du(z;,0) 0000000000000
00 Ur=U%=00000
0000000000000

e I:000000M: 000D0D00ONDDOODOOOOOOOO
Az =1/N,At=T/M, a = (At/Az)’000 0

o JUIOMO

- oooog j=0,1,---,NOOO

oooooQ
- oooog j=0,1,---,N—-1000

UUj = Uy + AW, + (8101 — 205 + ;1)

gogoogo

- 0ood
UUp=UUNy=0; UUU;=UUUN =0

oooooO
e 0000 n=1,2,--,M—-1000
- QgoO0j=1,2--,N—1000
UUU; =20U; = Uj + o(UU; 11 — 20U + UU; 1)

oooooo
- QgOo0j=1,2--,N—1000

gooooo

gooogo
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0000000000000
00000 Fortran0 CO0OO0O0O000000000000O0O00000O0000 NOO
0000000000000000004¢(z) =u(z,0) =22(1 — ), ¢(z) = dyu(x,0) =000,
At=1/50,Az=1/20000 t=1000000000000000A¢t00000Az=1/100
000000000000000000000000000

w(z, t) = % > ﬁ{sin((?n ~ (e +4)) + sin((2n — (e — 4))

gbooboobgobooobobobobobooboobooooooooooboooooooDbo
U000 Runge-Kutta O OO OO OO0 OOODOOO

CCCCCCCeeeeeeceecceececeececcececeeccceeeeeceececeeccceccccce
C Wave equation solver C
CCCCCCCeeeeeeceecceececeececcececeeccceeeeeceececeeccceccccce

parameter (n=20,m=50)
c n: J0000000Om: OO0O0OOCOOOOO

real u(0:n),uu(0:n),uuu(0:n)

external f,g

dx=1./real(n)
dt=1./real(m)

a=(dt/dx) **2

do 1 j=0,n
u(j)=f(real(j)*dx)

1 continue

write(6,1000) (dx*real(k),u(k),k=0,n)
write(6,200)

do 2 j=1,n-1
uu(jd=u(j)+dt*g(real (j)*dx)+a*x(u(j+1)-2.*xu(jd)+u(j-1))/2.

2 continue

uu(0)=0.
uu(n)=0.
uuu (0)=0.

uuu(n)=0.
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do 100 i=1,m
CCCCCCLLeeeeeeeececeeecececeeceeeeeeeceeeeeeeeeceeececcececccece
C Main loop to 100 C
CCCCCCCCCeCeeeeeeeceeeeeececececeeeeecceeeeeeeeceeeceeeccecececece

do 10 j=1,n-1

uuu (j)=2.*uu(j)-u(jd)+a* (uu(j+1)-2. *uu(j)+uu(j-1))
10 continue

do 20 j=0,n
u(j)=uul(j)
uu(j)=uuu(j)
20 continue

IF(MOD(i,5) .EQ.0) THEN

write(6,1000) (dx*real(k),U(k),k=0,n)
write(6,200)

endif
100 continue
200 format ()
1000 FORMAT(5x,2f10.4)
stop
end

€CCCCCCCCCCCCCCCCCCCCCCCCCCCCCCCCCCCCCCCCCCCCe
real function f(x)

£=2.0*x*(1.-x)

end

real function g(x)
g=0.0

end

OO0 Fortran 0O OO 0OO0OCOOODOOO

sk ok s ok ok ok ok ok sk ok sk ook o ok ok sk sk ok ook ok ok sk ok ook ook ok ok sk ok ook ook ook ok ok ok ook ook ok ok ook ok ok ok
gooooooooo

Wave equation solver
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gooooobg

gce tawave.c -1lm

¥ ok ok sk ok ok ok ok ok ok ok o ok ok 3k ok ok ok sk ok sk ok ok ok K ok sk ok o ok ok 3k ok ok ok ok sk ok sk ok ok ok Kk ko ok /

#include <stdio.h>

#define N 20
#tdefine M 50

double f(double);
double g(double);

main ()
{
int 1, j, k;
double a, dx, dt;
double U[N+1], UU[N+1], UUU[N+1];

dx 1.0 / (double)N;
dt 1.0 / (double)M;
a=(dt / dx) * (dt / dx);

for(i = 0; i <= N; i++){
U[i] = £f((double)i * dx);

for(k = 0; k <= N; k++){

printf ("\t%10.4£\t%10.4f\n", dx*(doubledk, U[k]);
}
printf ("\n");

for(i =1; i <= N - 1; i++){
UU[i] = U[i] + dt * g((double)j * dx)
+ a *x (U[i+1] - 2.0 * U[i] + U[i-1]) / 2.0;

¥

UU[0] = 0.0;
UU[N] = 0.0;
UUU[0] = 0.0;
UUU[N] = 0.0;

for(i = 1; i <= M; i++){
for(j = 1; j <= N-1; j++){
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UUUL[j] = 2.0 * UU[j] - U[j] + a * (UU[j+1] - 2.0 * UU[j] + UU[j-11);
}

for(j = 0; j <= N; j++){
U[j]1 = UU[j];
UU[j] = UUUL[j];

¥

if((1 % 5) == 0){
for(k = 0; k <= N; k++){
printf ("\t%10.4£f\t%10.4f\n", dxx(double)k, U[k]);
}
printf ("\n");
¥

double f(double x)
{

return 2.0 * x * (1.0 - x);

double g(double x)
{

return 0.0;

gbobooboobooobooooooooooo

13.3 ODO0OO0O0O0
gooooboobobbobtboodooooooub b oooooboboobobbooboooooo
Uj = s" explikjAz] (9)
0000 (1)0000000 (=1)000000000000
kAz

5% — 25(1 — 2asin®( )+1=0 (10)

0008 =asin?(*24)00000(10) 000

2
s=1-28+,/48(8—1) (11)

0000000000000000(13.3) 000000000 s,00000000 s;0000
O00000000000000D0 |s1)1 < land s 1000000000 O0O0OB>1000
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0.6 T T T T

‘wave.dat’ —

-0.6 1 1 1 1
0 0.2 0.4 0.6 0.8 1

01: 0000000000000nr=0,5,10,---,50000At=1/N =1/50, Az = 1/20.

00 s; # 0000000 s1s,=10000000000000000008=10000
s1=s5,=1,0<B<10000-1<1-28=Re(s1)=Re(sy) <100000000000
0000000000000B<10000000000

kAz

)<1 (12)

asin®(

ooobobOob koo obooobodbtde<100

At
— <1 1
Az — (13)

gooooon

13.4 0000

gbobodobuoobboobooboobooooboboboboobbobboobbooog
goboobooobobooooooboobuoobooobooboonoo

e 000D (Dirchlet) u(z,$) 0000000000
e 00O (Neumann) d,u(z,t) 0000000000
e 0000 w(0,0)=w(L,)00000 LOOODOOD

ooooobbobfo,u=000000000000000000 NeumannOOOGOOoOoOO
goobooboogobooooboooboobbooboooboobbooboobboon
gbbooobooobobbooobbooboobbooobooboooobooboobbon
00000 ringd 0000000 torus U0 0O0O0OO0OOOOOO0OODOOO
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goboobbobbooboooboooboobbboobboobobooobbobbo
gogboboooobobboobbb~bbbOoobbboooobooboboooobboan
god
uobooboobbooboobooooboobobobobooooboobobooboboobo
goobodoobobooobobobobobobobooobbobobobobobOobo
gboooboooobbobboooboboobooboooboobooobobooboboon
uoboodobo0oo NOODOOoobouoboboo n0O0000000 Ur=0g,Uy_1=Ux00
gooooooo
uobodbuooboooboobooobooboboboboobbobboobooobo
gobooooboboobobobbooooobobboobooboooo NDOODLOODOOo
ot 000000000000, N+10000Uy=Uy,Uy,,=07000000000
godgobooobooobooboooboobbobboobbobooboooDbon

¢(x) = 1/ cosh((z — 0.5)/0.1)?

gbooobbobobooooooooobboboobboboobobtt=100000000
ooo010000000 1/100,000 1/2000 00 0000000000000 O0O0O00O00O0OO
ooooobobobobbbob0obO0obOobO FortranOOOOOOOOOODOOODOO

CCCCCCCCCCCCCCCCCCCCCCCCCCCCCCCCCCCCCCCCCCCCCCccccccee
C Wave equation solver C
C With the periodic boundary condition c
CCCCCCLCeeeeeeeeeeeeececeececcecececeeccceeeeeeeeeeeccceccecee

parameter (n=100,m=200)
real u(0:n),uu(0:n),uuu(0:n)

external f,g

t=0.0
dx=1./real(n)
dt=1./real(m)

a=(dt/dx) **2

do 1 j=1,n-1
u(j)=f(real(j)*dx)
1 continue
u(n)=u(1)
u(0)=u(n-1)

c write(6,1000) (t,dx*real(k),u(k),k=0,n,4)

write(6,1000) (t,dx*real(k),u(k),k=0,n)
write(6,200)
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do 2 j=1,n-1
uu(j)=u(j)+dt*g(real (j)*dx)+a*x(u(j+1)-2.xu(j)+u(j-1))/2.

2 continue

uu(n)=uu(l)
uu(0)=uu(n-1)

do 100 i=1,m
CCCCCCCCCCCCCreeceeeeeeeeeeeeeeeeceeeceececececeecceceecceececcece

C Main loop to 100 C
CCCCCCLLeeeeeeeececeeecececeeceeeeeeeceeeeeeeeeceeececcececccece
t=t+dt

do 10 j=1,n-1
uuu(j)=2.*uu(j)-u(j)+a*(uu(j+1)-2.*uu(jd)+uu(j-1))

10 continue

uuu(n)=uuu(l)

uuu (1)=uuu(n-1)

do 20 j=1,n-1
u(j)=uulj)
uu(j)=uuu(j)

20 continue

u(n)=u(1)
u(0)=u(n-1)
uu(n)=uu(l)
uu(0)=uu(n-1)

IF(MOD(i,8) .EQ.0) THEN
c write(6,1000) (t,dx*real(k),U(k),k=0,n,4)
write(6,1000) (t,dx*real(k),U(k),k=0,n)
write(6,200)

endif
100 continue
200 format ()
1000 FORMAT(5x,3f10.4)
stop
end

o of of of of of o of of o of o of of of of o of o of of of of o of of of of o o oF of of of of o of o of of X of o o o}
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real function f(x)
£=1.0/cosh((x-0.5)/0.1)**2

end

real function g(x)
g=1.0

end

ooobobo chbobbobooooboboobo

‘'wave-pb.dat’ —
1

02:.000000000000000At=1/N=1/200,Az=1/100. 000 8At0 000D
gbooooobooboobooo

O0d0odoooooooooboobooboboooobObobOooobbbDDOOdgnuplot
oooo

gnuplot> set parametric

0000000000000 o0bobO00bb00b0o00b0U0UDO parametric mode
oooooboooood

gnuplot> sp 'wave-pb.dat’ w1

000000000 DOO000o0oo00odbodobOdooooooodoooDoooon
000Db0bO0obO000ob0o0o0DbDbO0oo00O0o000Owld withlineOOOOOODOO

gnuplot> set hid

gnuplot> replot

O00D00000000sehidO0O0O0OOOODOODOODODOODOODODOODOOOODOO
OOreplot 00 ODO0OD0D0OD0DOODODOOOODDOODOOODODOOODOOODOO on-line
manual 00000000000 0O0O0O0OO0OO0ODOODOOOOO0ODDUOOOOOoDOO
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gnuplot> set contour

gnuplot> replot

000000000000 Ocontour 000000000000 OOOODOODOO0O Caption
0000O0oDbOOo0O0oOoooooDoooog

gnuplot> set cntrparam levels incremental 0,.2,2.

gnuplot> replot

O000000000entrparam 00 00000000 00O0O0OOOODOODOODOOOOO
manual 0 0000000000000 00O0O0O00OD0OOOOO0ODOO0OOOODOODOODOOO0OOd
oooboobooooogoo

0000000000000 00000000ooooOOoooooDooooDoooooooonoag

03:000000000000000At=1/N=1/200,Az=1/100. 000 8At0 0000
gbboooobooboobooo

goon
gobooboobbooboooboooboobbooboooooobobobooboobo
gbbooobobooobooobooboboobboooboooboobooboboobuoobogn
gboobobobobobobbobibbiobb0ee=00000z=1000000000
uobooboobboobooboooobooobobooobobobbooboboonbo
gboobobobooo
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‘wave-free.dat’

il
RN
\

Al

N
o

//—

!

I
e

il

il
Iy

v

/

AN
NN
AN
AN

o

N

04 000000000000000At=1/N=1/200,Az=1/100. 000 8At0000O0O

gbboooobooboobooo

05 000000000000000000000O00O00O00OAt=1/N =1/200,Az =1/100.
111

obogsAtdpoooooooooooooooooooo



